#65E SETkE TR TS [2231706]

Y s AR— S~k Eits [311010] DRSS IR
2022/06/11 ~ 2022/06/12 ;E/EE %ﬁjﬂg aﬁf %‘J@
BCxHEHE  LTFENE
MAEF RN E EA A
W kT Ak R
LS i H 1 207 37 AT 57 67 T 8L
GHLLH /N T F100m SR HIR(L) 17.53[ 2 M) 17.95(4k #H%(1) 19.78
413 S - {RISAC GR[Jefii -{HEAC GRS HL-KY &5 H
eatin|  AFREZTIm  [AR IRZEER) 16.86|HH #(2) 18.22|HIH fEFR(2) 19.32| & W/ (@) 19.36| K5 BER2) 19.93|REM HH2) 20.02| Kl #HEL2) 20.22
1l JSHC-KY B HL S KY B HL JSHCKY S JBHCKY S SHC-AiZATC JSHC-KY S JBHCKY S
6H11H /N34 B -100m A AKRE) 15.93|3 FHAQ) 16.58[NH J\{f(3) 16.97| 11 1E5E(3) 17.08|PEAf SAEL(3) 17.22( s DHIE(3) 1743\ #2%(3) 17.81[AF B (3) 18.08
0.5 B KY S H B ARBATC Bl NN B HCKY S HR B KY B H B KY B B KY B S A BTC
6H11H /N ASE B -100m fmk HE@ 14.64 g %4 15.57 [AFF #EA:(4) 16.04 (5 2435(4) 16.09(Z2H  BEA(4) 16.32[fH A4(4) 16.51 (1L F EDH#E(4) 16.68| & H KA (4) 16.79
1.0 B KY S H LA BATC el - {HIAC UL KY B HL B HCKY S HR S AFBATC S HCKY S S KY S R
GHLLA /NS F100m ESE X6 1457 H HAE(5) 14.62 (1= H & K(5) 14.73| 1A AHIG) 15.30 [ A ##(5) 15.42| 5 H &5 (5) 15.43| 46— W) 16.13| 1 77 (5) 16.51
B +1.0 B A BATC BHCKY B H I KY B H B A BATC S RIERC S HCKY S S HCKY S S KY B R
6H11H /NEFBAE B 100m EARE(G) 13.59 [k 5ERL(6) 13.67 [ {fE6) 14.07 [JE7K 32 K(6) 14.17[ &1L HA6) 14.29[ &Y YR A(6) 14.39[#k Fhk(6) 14.45| M 25(6) 14.54
0.2 S HCKY B Sl - {HBAC B AiEATC SefE - {HBAC F i RIERC B CAiEATC Sef - {HBAC B HCKY B
6H11H N5 £800m [ PN0) 2:34.78[ /2L BEK(6) 2:37.31 /K 1K (6) 2:38.45( 4% —#HG) 2:48.96[HIF 5%2(6) 2:49.73[HH HKREG) 2:52.21 [ M F4(5) 2:53.81[i 7k TLA(6) 2:54.32
s RIERC BICKY B E Sel - {BIEAC B HCKY S HR B ABATC B HCKY S BHCKY S Sefi- BEAC
KY SHRA 55.62|fHZTC-A 56.17|KY E5 1B 59.10|KY F51C 1:00.31[#i#4TC-B 1:03.70[KY S HD 1:07.93[KY SHRE 1:08.15|KY S HRE 1:12.38
wE HEz@ KT 2 (5) Wl 3EA6) e A (5) A JIk(s) KN 5 (4) &) A EZE(2)
64120 AEBTAX100mR  |PER 3HE(6) oo YNC) JENL BEK(6) [CIE P NE) A HSA) EHH KA PR UEEL(3) H O ERG)
M 34(6) IR R 6) T— 5N (6) 1A —HE(5) LA GHAEA(5) IR FUREG4) I THIEE) H &EH2)
AT 6) i @76(6) A tH=6) B KIS (5) JNiE #Hi4) i E Ehd4) T A%5Q) B HREH2)
6A 121 PRS- ok SEA6) Im42 g #r4) Im15[A T #E(65) Im10
B AREATC GRS H-AiZATC B ABATC
65 12 PRET— B KRG Am23CGLT)[EE EG6)  4mloGLO[ILA HAHIG)  3me3G+tLD[ILT FEAEE)  3m45GH0.3)[ R AEFM@)  2m9Il(H3.6)|[EE EAL@  2m80G2.D[HH MEZ(G)  2m78(+2.0)[MA FHHEG)  2m60(+1.6)
B RIERC B ARBATC B -ARBATC FHCKY B H SCKYBE adremse1.9)| BECKYRH  sigemest1.5)| S H-KY S S AEATC
GHIZH | 5o g Bt HA6) 39m77 &L HER(6) 34m60 (= H FERII6) 33m88 [ 2£(6) 30m22 [ 1LA HAHI(5) 28m23(¥n B G) 27m95 [ & KG) 25m28[ &4 fR{=(6) 22m34
B AREATC GR| BB KIERC e BRI/ FHCKY S H Bl AETC SHCKY S SHCKY S JSHCKY B
65 12 I LAE B F-100m JIEIREYT0) 12.36|#% HOKHER(D) 12.47( 720 A1) 12.81 #4110 8K (D) 13.11{/MR 77 (1) 13.16|4 1 HEdR(D) 13.18{ 1L FLF(D) 13.27|% % EAD) 13.31
JA:+0.5 B =@ Bl BRME B S Bl By i B S A Sl By S S BUR
6n120| e risoon R LA 4:35.02| B Fh(1) 4:56.49{] £ 3 SF(1) 4:59.73| 5% A 5:00.47 /K JEUHE(D) 5:03.04[F A fnK(1) 5:04.50[%& 1 Bik(D) 5:09.013F5 fHth(D) 5:09.77
e B HUR B BRME Bkl S Sl B BUR S i e S T e S A
6A12H 24 B -100m HH AH2) 11.89[ 1N ##=(2) 12.22[ KT Bi(2) 12.26 /11 #R1%(2) 12.29(F)11 HHE(2) 12.30 [ PaAS ¥EE(2) 12.50| #al] - Z%44i(2) 12.62 8w 1534-2) 12.63
JA:+1.8 SejdE - {HIEAC Bl B B \gE Bl g B i S s S B BUR S g
65112 B4 B -100m IR 22 34(3) 1109484 B2(3) 11.40( 1L BEA(3) 1167/ L 48(3) 11.68[fEA ZH(3) 1L72[8R8 TR@3) 11.80(H1JIT 5EK(3) 11.94
JA:+2.6 B S S s Bl BRKE Bl B BUR T Bl ke Sl \E S [EF e
GAILE 125 1-200m iy KA (3) 23.33[ 511 48(3) 2349117 EA(3) 23.61 (1A ZHH(3) 23.88 |1/ SR w2 (3) 24.10[ & 81(3) 24.50[FF 1 K#E@3) 2537 1IN %=(©) 25.39
A:A1.2 B BRKE T Bl BBUR T Bl BBUR T Bl ke Sl g 5 e B EBuh Sl gk S S
67128 1 F-400m JIF 1A (3) 53.97 |1/ SR> 2 (3) 55.54( £-1k ARaR(3) 1:00.19[H K Q) 1:01.02[ & 3iH (2) 1:02.25 [ F=H(2) 1:03.88[ LA KA (2) 1:04.09[7c8% HR&E2) 1:04.19
B BBUR T B \gE B g B i B B S I AR Bl LS
65 11H o 7-800m JEER KIH(3) 2:01.55[FE)2 AIKB) 2:05.49[ T ZEFR(3) 2:06.35[ LR #&IKk(3) 2:08.24 MG YAA(2) 2:12.55|18H HEAQ2) 2:18.99 74 1L —5E(3) 2:20.09|fai ZRa(3) 2:22.01
ST B KHE GRS AL Bl BBUR T B \gE Bl )\gg Bl S Bl Sk Sl AL
6H 120 125 7 1500m TR KI(3) 4:18.74[HIH Z22H0(3) 4:22.04|0 HKQ) 4:24.85 FEME UHCK(2) 4:31.56 (KL BEARHR(2) 4:32.81[ (LR ik (3) 4:33.67| BitE THEN3) 4381610 B1-(3) 1:38.53
B BRKE T Bl BBUR T B A Bl \gE B \gE S \gE Sl By Sl \GE
6A11E 1 5, 7-3000m LR FE4(3) 9:21.13[ 1A =E15Q2) 9:21.86|m % f&IHQ) 9:22.08| K11 WEAER(2) 9:45.15| (i &{=(3) 9:53.52|fkIL %) 9:57.07| N7 &H5(3) 10:04.67|FFH & A(3) 10:04.94
B \gE B ARfiw e SISO B \gE B \gg S Sl By Sl \E
eAtp| TEAFIMHO.914m) L) ERR() 16.42[1# M 22(3) 17.33| & LFHEFG) 17.39{ T K@) 17.82| %4 KH(2) 18.08[/VA B8R (2) 18.64|FeA Flif(2) 18.67| I H HiH (2) 18.95
0.4 S s h S \gE Sl \gg B BEded Bl g Bl & Bl BRKE T S B
R 45.41 )\ A 46.00 | 55 KBt 46.94 | g 48.28 [ /4% 48.45[\EH B 50.32 (B¢ 51.80
ik HEA(3) AT BHQ2) AR HARR(L) ViR A (3) i EARQ2) g IR AQ2) b )
67121 P FAX100mR | Rl HE(3) SRR HIRK(3) iy A= (3) IR FA() A Z3) EXTEPN: ()] i 5K(2)
E[AlI NG &) TEs ERE) N 2812(2) b KEG) TH #&H2) I ELA(D)
A B5(3) Vel S 2 (3) P Pk (2) AR HURRQ2) A F2) HEE SRAR(2) P NCY)
A 11H R—— R BESFQ) Im64|H T FH5(2) Im6L{FEA AR (3) Im52| T 4£34(2) 1m35
B B EE S \gE S \gE S \gE
A 11H — Sy TRG)  Sm75(-0.9)[TH A&SH@)  4m90(-0.2)[H1E £/ M(2) Am75(-0.N[HT HBKREQ)  4ma6(0.2)[FEH Q)  AmdoC-L.D[mAE E3}G) 4m23(0.0)[ %A H(2) 3m91(+0. DAz D) 3m04(+0.5)
i \gE S \gg S Bkt S J\gE Sl ke S \gE Bl SBde S
2 = g sl H£(3) 11m72(+0.8)
6H11H e T = Bk LB -
T I £ ) 8m20|#A L (3) 8mO3|BkA HL(3) Tm62|( ARk HE(2) Tms5| B KJn(2) Tm35 A FaE(2) 6m95|H e EAEQ) 6m92[ T2 S TA(3) 5m29
) JI NG S i e S B B B BEdkd S Sl By S HR g
68120 wem oy san— | VB Q) 39m99 [Pl —i# () 32m80[ 145 With(2) 31m10[JG FERQ) 26m50( A1 7E(2) 22m94 BeiR H#(2) 21m88 K 75K (2) 20m6 1 [#E7y b3} (1) 13m37
JsIB e Bk S Fs S ke S ke JHI e S e 1 o S 1 o




LR T

6512 — i B -100m 10.52| HAFIAr 10.71]% % (L BA4) 10.93|FIH 7%3) 1L12| =R FE@) 11.32| A Wk 11.36|/Mk K— 11.36 |50 %K (3) 11.46
JB:+2.6 = -NTN PN PN NN Bl B Bl SR Fo - B E S BEAS BT NVIA S B U
6A11H I -200m S B 21.80(thHE HnZ% 22.58| i HERR 23.29|% =k 23.47|RTFE R 23.52[ TR KFR) 23.74|FAK B 23.80(FF 0 (1) 23.95
JR:+1.5 el - HIEAC GR[Jefii - {HIEAC B BEAS BT VIR B B X v S B U S B Bkt S B R
6A12H 42 4100m JIJE #AER) 52.25| KH BEE(2) 52.79[W )11 A £(1) 5455 AT HER 55.83|Mbi HIB(3) 56.87
Bl SR e B BUR e Bl B BuRdt & S S B B 5 Hil
GALLA 49 7800m A 1%(2) L67.54| 7 F A 2:02.04|fFF HER(2) 2:04.21 (FRJFL (1) 2:08.38|ILA H1(1) 2:09.35[ M BEEQ2) 2:09.64(HiA FEHE(L) 2:09.97 [KRJ50 Hikst(1) 2:13.47
Bl \BE S U RRED Bl SR Bl-EES B B B HUR S B BHEES
65120 A F1500m HeP w5 3:68.32|fifil M HE(2) 40447 [FJF HES(3) 412,434 A1) 4:16.02#8)1 ECAHI(1) 4:17.57 [l ZE5i(3) 4:18.16[ 7 ks ZFH(Q) 4:18.22|Fkx TEK®) 4:19.33
S s B GR| &\ B & Bl B BuRAt & B \BE Bl B BusAt & B J\SE i \EE S B Ee
GHLLA A 75000m 2R (1) 15:44.64( =% Hhk 15:53.48 [ A # 16:01.35[#fiA A1) 16:21.17 35 Ko 16:30.56 (B Jii £.(1) 16:33.12 /11 i#th, 16:36.91 [ et} 17:01.79
SRR R UL A BAAC B A SAAC B J\BE UL BHAS S B BUR S H - )\ BEmT S H HUBED
eatin| AT T LomiCLo6Tm) [HTEE HER(D) 19.42
R :+0.4 I B U
FSIUREA 44.66 [ SEUR B 45.43
SEH BESH2) TR HH2)
6112H I3 FAXI100mR | 22 A(3) o =)
KH WFQ) i BEEQ)
A BRE) wIL AW
6H11H A HATNA 6m99(-0.6)|AifHE HEhk 6m88(+0.3) | & i — Ik 6m51(+0.8)[# 11 k(1) 5m87(-0.5)[FE)II FH(2) 5m75(+0.4)[ 1L T #OEE(D)  5m15¢+1LD[WEIL 24D 4m61(0.0)| 2 (1) 4m28(0.0)
KB RIEKRT.C GRIE I BHAS Bl B Bl B BusAt & Bl B iusAt & S B st & S B BUR S H B R
6A11A P D 13m63(+1.2)[ B [EEL(3)  12m70(+0.4)
_ BT VI A SUHR - B R
" ’ HH WS 45m29
6HLILA| —% T MH5#%(2.000kg) ,%[&',%mﬁﬁ% GR
g o [ HR1E(3) 44m09 [FiEhG  viERk(1) 31m64 [ KFHE) 25m38 | #iE HER(1) 21m52
O] TRATEVRON | piy . Bk B35 B i B % [




6H11H JINFTAE 42 -100m G AR 19.47 [fEA HxAh(1) 22.53| A1 TFJ(1D) 23.08
Ji:+0.6 B KY B Bl A A TC ML KY B HR
6A11H N2 42 -100m s HA(R) 17.53[ (LR WEH(2) 17.86[VEH 1%(2) 19.95[ LR FL4L(2) 20.67
JA:-0.2 S - {HBAC B B a S A B HC-KY S HR B HCKY S H
. AEsELr10om MR FER() 17.48| 7R HHQ) 17491t A#EQR) 17.72]JER ) 19.30
:0.0 BEHC-KY B R B CKY B HR - RAERC B KY S HR
. JINFARE 4L 7-100m 22Ut HYE(4) 15.42|fRAA 3EHA(4) 16.16 | AL 2F/4:(4) 16.19] K .05(4) 16.52[ 4k 3=4E(4) 1741|180 FERG) 1747\ R B4 17.89[3 M il #i%E(4) 18.05
JA:+0.3 B KY S H B HCKY B H B HCKY B HR B ABATC BHCKY S HR S HCKY S S ARBATC S KY B R
6A11H /NESEE A T-100m e kA (5) 14.31[ = BFn(5) 14.52| LA JIBE(5) 14.62| &% 4 (5) 14.65| 1/ #ifa5) 15.28| @M JFRIL(5) 15745 M #:/E(5) 15.78| Kk H727x(5) 17.59
:+0.6 B A BATC BHCKY B H B B aAF A B ARBATC B KY B H B KY B H S AFBATC B A BTC
. JNFBAE L2 4-100m ENTETEG) 14.07[JFA 75(6) 14.59 [ (LR 4 85(6) 14.61 2 48(6) 15.45(RiTH HH(6) 15.52 (i IBRERE(6) 15.58jEH 70 3E(6) 1560/ F-75(6) 15.66
13 B A BATC B ARBATC B B alF A B KY B H B KY B H B KY B S AFBATC B A BTC
GHLLA Ik F800m b EAns) 2:42.03 (8 H8(6) 2:48.38 (1 HAKA(5) 2:50.77 [ A 3F5(6) 2:50.78 [k A (6) 2:54.64 (111 Z#E(6) 2:54.69 (4 JFEHITE(E) 2:54.81 (%M #/E(6) 2:57.14
B KY S HR B HCKY B H BHCKY B H B ABATC B KY S HR S HCKY S B KY B B A BTC
AABATC—A 55.60 |KY 1A 58.43|KY BB 59.79|fZTC—B 1:01.60|KY BHC 1:02.68[KY B HD 1:04.90 [ B4 TC—C 1:06.66 [KY SIRE 1:11.27
% AeH(5) g HfRe) AT HH6) Gt 6 T R A(5) BRI 2EA(4) BRI L) Bt FREG)
64 12H /AL FAX100mR e A6 A (5) ik BEFAes) 28i% HHE) IR FT5(6) THEH HG6) Hik HA6) B 2 (6) B R
PEIL F0E6) g E6) kA EECE) 7 3E(6) A== 3-1() HE B53E6) tEA 2EH6) e =)
JEA 15(6) T8 FHG6) e f£5(6) Rl i0(4) LI O) ahii] 75 (6) KEs H7edr5) WO AEHIEE4)
SH12H ST EIETIG) tm21{ L T (5) Im18|/Mk F75(6) ImI8[FEA #)5(6) Im18
B AR BATC B ARBATC B ARBATC B ABATC
ozl erem  [EE RO m90CGOD[LE JAG)  smi9GZO)[IR SEE)  sm7002. D[BUK JENEG)  3mes(s.5)| Lk JEG) 3360 12| A (G)  dm32(10.9)| B B/EG)  2m89(0.6)| Ml JRILG)  2mBA(12.2)
EB-AEATC BEECABATC ARsmest L )| B BRYasT 2 ARSmSTGLS) B Blya )2 Asmse+0.8)| B H - KY B H EBCARBATC EHCARBTC SECKYSBE aienrseon
6AI2A| LT g B JRIE(5) 28m07 [VH (LI SEmE(6) 26m55|FEH 70 3E(6) 22m66 [+ 1 E(6) 22m17[/Mk T 75(6) 20m67 (@A HA(6) 19m32|FLE 2A(6) 17mO0 [ HH F3%(6) 12m98
B BERYa A2 B H-ARBATC B ARBATC BHCKY B HR B ARBATC S AFBATC SHCKY S JHHCKY S
65 12 14 £ F100m IR Z0A(1) 13.88[1FAK —AE(1) 14.02| A HEAR(L) 14.09| R~ 34D 14.30 Bl 8 £ A1) 14.46[{HH ArE(D) 14.52|FE HEE(D) 14.77{ ik 1Z0(1) 15.37
JA: 414 B i e Bl iy Bl B B B Sl B BUR B Bl Sl \GE
A 11H N =20 2:31.69 [ 2 Lx(1) 2:33.94[ = H #1(1) 2:35. 71K T 346D 2:37.07/MA 4&(1) 2:43.01[FFHH &) 2:44. 40| W (D) 2:44. 42|80 (1) 2:46.12
BBy Bt \gg Bl BRME S B R B BRME B R - R S g S T e
eH 121 PeEoE L T100m | ORI (2) 14.01 *7}:0\/) 5(2) 14.03[\F EEH2) 14.31 [k fE£(2) 14.63 (45 & BE(2) 14.63[JIIA Z5(2) 14.65( 22 U0(2) 14.84| 50 #(2) 14.85
JA:+1.3 B g B e B BRME B Fs B Ak Sl SRME S i e JH SRR T
6512 B4 L F-100m HiTH S<H3) 12.48|3 ik Mk(%) 12.77|f %K #HE3) 13.00|3 E #1(3) 13.57|HEA JFRYL(3) 1377/ R BHREG) 13.85|#)11 &42(3) 13.89 %8 H drt@3) 13.90
JA:+0.6 Bl g g8 GR[Es I~ 1 s Bl B HUR B BRME S ke S [ERF e S FAs Sl \GE
6A11E 154 -200m fak HHEE) 26.92[FA LiE(3) 2789 [MEA JRUL(3) 28.54 (1@ H MLE(3) 28.56 LA HOA(1) 29.08[fEH 03E(3) 29.25[= M #1-(1) 30.20| %25 O0(2) 30.48
1.2 e B HUR st [ B 24 Bl \gg S i e S S BUR Sl SRME S H T e
6H11H 1A F800m I 4<(3) 2:19.32| AT JERKE) 2:29.28 KA Fi 1-(3) 2:31.33[HHR FEE) 2:32.133ai 7k B (2) 2:34. 14{JiRIE) WRA3) 2:35. T4 A HIPEG) 23T.T9[ILA K@) 2:40.42
B AR e B BRME Bl B Bl \gE Bl Fas ST IR S \E SR
65112 4 71500m RH #753) 4:47.78|4  TaE) 4:49.36| Ry MEE(3) 4:52.41|H Il #EQ) 4:56.16 |42 L (1) 5:11.36 A #i1-(3) 5:11.38| A HIHKE) 5:13.46|1LIAR  FEHE(3) 5:13.51
Bl A B \gE Bl \gE B g B g S S Sl \E Sl \GE
61| TEFLTFI00mHOT62m) (A BRI 17.14| 762 £ A EE) 17.49| T3 3216(3) 18.391%5 H i H (2) 20.92(FEH OE0(3) 23.87
JA:+0.8 B B S i e Em ) 1 B g Sl [EF
JSHUR 53.67 [ K5 KK h 53.99 [ gE 54.67 |[EJfF 55.09 |{r[ i 55.34 [ \gH 56.40 /A& 56.45 | s HLPE 58.13
[SEEIVVEY) A EHE) f;éz.zj EZR(3) Al OELE) W AHEG) AR L1 i A1) KH Z72203)
67128 PELTAXI00mR  (HEA Kkdi(3) Lk #TG) KA OND(2) A Q) R EHER) A B (3) JESE A TA(3) i S A(3)
FH D3E3) R EEEER) A HA 2) T WeAl) ZiE UHh0R) fEH ) o Q) B B E-(3)
;Feé ?E(z) IR FEEDQ2) S EG) AR HRE) AR ZOA(1) SN 1 FZo) S = (0)) 7)1 EHEB)
B Nk HEA(2) Im34| T 3206(3) Im25|H T 30T5(2) 1m20
SR I b | 8 T oI5 81 oI S
A 11E RS- W EAEEG)  Amd9(+0.2)[kAOMBQR) AmlTGL2|ART 3EHEQ) 4m14(0.0)| B Q) 4mO1(+0.6)[Tf/K 2E&KEB)  3m89C+0.6)[AIH =IRG)  3m7IGLI)|[SFE Funr(1)  3m67(0.0)[HAIES%(1)  3m56(+0.4)
%i-im? Ez-ﬁ'éﬁqﬂ Bl B B g B Sk S S Bl BXME T S - JEE B 2l
[ , HiA 55 % (3) 10m29] (Lt BeZE(1) 6m92( LA 137:(1) 6m83| Lk (1) 5m75
OINA| TRATRARCTNS | by g oI5 AT S 5 oI5 181
67126 | fhe oy ram— | BEEE) 33m18 [ EITEB) 23m40 (1A 137(1) 23m03[~FH Fhn-f-(1) 22m13[)IIA B55(2) 21m87 (R - A% HE(1) 12m93
Sl BRKE T Bl BEdet B s Bl BRME T Bl BRME T Bl g




68121 —fi 4 F-100m EEECE) 13. 14| =5 HH#®R) 13.25\ B H FiZ=(3) 13.31|5H WREQ) 13.34[RiTH EH1)
JR:+2.3 Sl B Ebdl Bl B BUR e B BUR R i B Bt F e B U
6H11H —fi 4 +£-200m B E=AEQ) 28.11|fiTH FPI(1) 28.93
R:+0.4 B B R Bl B BUR
5 n JEH FEH5(3) 1:01.04
6H12H #2400 B B
6H11H 4 7-800m &1 AQ) 2:13.67| 1iE B2 2:17.52[ 5 H  Be(1) 2:29.51| FH L1 2:34.33[ LR 1&HK(1)
B I B AL GR| - B It & GRIE - A5 H P i S M J\BE R Bl B BUR
64 121 A4 F1500m w3 5:07.06|5H Be.L(1) 5:07.30 (#0110 A AR(2) 5:09.22| FH Lof5i(1) 5:09.55|/Mbk - A (2)
Bl BEURAt & Bl Bt e sl B BUR M- \BE M- J\BE
6H11H 4 F-3000m e TaER) 10:19.28 (2l MEE(3) 10:22.36[Hr L #3E(3) 10:31.13[# /A 5(3) 10:33.23 ()11 D#E(2)
B )\gE A S H - \GEH B S iRt & Bl SRt &
61| ML T00mHO.810m) |E M A (D) 15.62| 778 FERE(2) 16.24EHk Fufe(1) 17.13[4&%% B EB() 18.82[ il A1)
1.3 Bk B IURE B IURE B BURE B BURE
JSHUR 51.25 | 5 HLvH 51.80
FRR FEREQ2) tEHACH)
6H12H 42 F-4X100mR JFH  EH(3) %iE EHEEQ)
=l HHER) B 5(2)
B i EE(3) =) BER)
- M EREQ)  5m00(+1.3)[EEH HEEEQ)  4m08(+0.7)
6H11H Wt F ARk %HX%%K B RS
e Bk JUA fHZ%(3)  10m36(+0.4)
6H11H W7 = Beik Bk - B I
et IEIEREIO) 10m24 | #Hith 8mb5 £ H (1) 8mb1 |7 EifE2) 8m47
OLR| ARPRAROO0 | . )\ gt I Iy e A5 —% R ON
gt HH it 29m86 (76 11 1 (2) 29m41 IR Z53E2) 23m85 | AKS 174 (2) 14m55
SR AAFRRRA0% |1 py . pyte 2 — % I TS ST L B T
et ) M En4ER) 35m39[fH 1 H(2) 30m57 (SR fhith 29m05 [EF  Fh3EQ) 2Tm52| A H B
SHIZR| RAFRIROSK | pyi- Ju ok s [N I By e 25— ST LT BEE




